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1,000,000 10 10,000
O2+HelAld 24ZHl 100,000& «10& 1,000
301 EtE NS 30,000 30,000
14 IIEt2 8= 30,000 30,000
Ot g Zd X
2,500,000& 123 30,000
305 Hi& =S 2,400 2,400
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MU IIRINZZENSES 59,145 56,317 2,828
OdEHsts2 MEZA JIZHH 12
76,9603 x2EH*330 50,794
(@ZIN L-=y= Y= 50,794,000 *16.44% 8,351
201 2= 5,000 5,000 0




SA AEZE A A
M soCx 2B
el MESEAE 22 (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 At2t2ltl 5,000 5,000 0
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M ORNZZ2NSE S 29,573 28,159 1,414
O%MEAIZ 22|02
76,9603 *12H+3302 25,397
@ZIN L-=h= Y= 25,397 0002 %16.44% 4,176
201 fet= 3| 960 960
01 AtR2tc|HI 960 960
OFHTA2 2223 80,000& * 122 960
=0lE S 2E(HEAY) 57,332 52,970 4,362
= 28,666
S 20,066
o 8,600
307 @I2t01 & 57,332 52,970 4,362
= 28,666
= 20,066
Ea 8,600
05 212+ =S 57,332 52,970 4,362
O=dlidlt el2tE = 57,332
= 28,666
= 20,066
= 8,600
S0l WS 2H(HEAIY) 57,332 56,124 1,208
= 28,666
= 20,066
= 8,600
307 elztol & 57,332 56,124 1,208
= 28,666
[ 20,066
T 8,600




SN AlZBRIAE A
Bm: morciX|2 e
s AEFSUAE 22 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
05 QI2FRIEr3 57,332 56, 124 1,208
OR0lz DS 29 029 57,332
2 28,666
= 20,066
2 8,600
Xsel & 222/ (RHH) 131,290 142,620 A11,330
201 2et2 | 9,040 9,920 880
01 AR 22l 7,000 4,260 2,740
O2Y2E 7Y 7,000
02 222 2,040 5,660 £3,620
OBAIRT 2RI 70,0002+ 122 2,040
307 BI2H0IH 9,000 92,000
05 CI2RIErE 9,000 92,000
OXIRYl = Dl2iPI2Y 9,000
401 A& HIL2THY| 30,000 30,000
01 Al=t 30,000 30,000
OXIRY = AL 30,000
405 XparE St 250 10,700 210,460
01 Xtat L S EF S| 250 10,700 210,480
OHIAE KIS 250,0002!#1CH 250
A E 2 oMol (HS AL 85,000 0 85,000
2 42,500
= 12,750
2 29,750
401 A8 2 2CH| 85,000 0 85,000
2 42,500
< 12,750
2 29,750
o1 Alt 85,000 0 85,000
ORI EHAY =B S 85,000
2 42,500
= 12,750
2 29,750
R 1,381,188 561,175 820,013
ENCED 1,372,140 552,311 819,829
SSHSUE 22l 139,147 117,147 22,000
201 Ler2 | 134,147 112,147 22,000
01 AR 22l 28,963 26,463 2,500
OHASE U HMSE 5,000
oHldl A2 18,9002 +8CH+ 122 1,815
OF4I B2 30,9002 +2CH+ 122 742
owexll A2 56,9002+ 1CH 122 683




2A:

ANEZelAFE A

M HEAEsZ2e
=Rl MSsAlE 2 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OEXtE ME 100,000 %52 500
OM=E3 1,000
O3Z&H| A& 1,000
OS¢3 34 500,000 <22 1,000
OAlEE &= 300,000& %52 1,500
OZLIHIOIH EIIBA ==& 150
OS&&tl 22 1,000
OFEHIAIAY =XH|
364,400 122 4,373
OZelHIoIe et 2te| 180,000 123 2,160
O&Jl€| erd el 320,000& 12 3,840
Oag&H |X2 350,000 x 12 4,200
02 S3=gHl 105, 184 85,684 19,500
OAgotA Ealt| 36
Ogzt2el it g3l 48
Odot=k AIEE 300,000& * 122 3,600
OXIINEZ 4,000,000& 123 48,000
O=22el |l 15,000
OdE || 15,000
OAIZ&Hl sXIbl 13,500
Oollus+& &0EA 2,000
OAld= It EH
4,000,000 22| 8,000
206 M=l 5,000 5,000
01 MHZHI 5,000 5,000
Ozletd =AM 5,000
=CHSFME 2el 168,502 161,128 7,374
101 @124H| 38,480 36,640 1,840
M OIRIMZZ2NSE S 38,480 36,640 1,840
OMSEAIE Ea 76,9603 =2 *250& 38,480
201 er23y| 78,522 72,988 5,534
01 AtR2t2|HI 23,622 21,088 2,534
OFx € PUES 4,000
OM=ss 1,000
OANEE &= 300,000& %52 1,500
OZLIHIOIE EIIBA ==&
150,0002 %12 150
O=s44d &4 600,000 <22 1,200
OZAIDIA EHIIZA =28 100
O&DI&H| etd2e|d] 350,000& 122 4,200
OAZ4d| FAl2cl] 300,000& 122 3,600
OSZHIAIAE FX2eld]
220,000 x 122 2,640




2A:

ANEZelAFE A

M HEAEsZ2e
=Rl MSsAlE 2 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OZCIHIOIE etE2tel|
200,000 * 122 2,400
ORQHSHE bleipe
17,0002 ~40H~ 122 816
O30NMSME D] HE
42,0002 #4LH+ 122 2,016
02 S5=g4l 54,900 51,900 3,000
O&JINESE 1,500,000& «12& 18,000
Odlol=ZAIEE 200,000& * 128 2,400
(@F=gtiFSE=: Rl 50
Ogzt2el it g3l 50
OEADIAAER 1,000,000& «12& 12,000
OClHdl & eEtdal AIE=
50,0002 128 600
OAI2EbBI= X 20,000
ot=sd2exteg sl
150,000& «12& 1,800
206 M=l 1,500 1,500
01 MZH| 1,500 1,500
OFSE=E1=ININ, 1,500
401 Al HIYL S CHYI 40,000 40,000
01 AlZ2H| 40,000 40,000
OFXHE =1 SAt 40,000
UMEEESE 2l 199,918 101,453 98,465
101 e124d| 81,578 19,053 62,525
M ORNZZ2NSE S 81,578 19,053 62,525
Osgesd 22 AR 81,578
201 er23 | 111,340 77,400 33,940
01 At2teltl 33,100 24,760 8,340
OMEES 3,000
OFx € PYUES 6,000
OANdE &5 300,000 #53] 1,500
OS¢3 34 500,000 <22 1,000
Outssgesd A U= 12,000
ORQUBHIAIAE R
250,000 x 122 3,000
O&JIEH| erd 2t 250,000 * 122 3,000
OAgHEdl FXl2el 300,000 * 122 3,600
2 352484l 78,240 52,640 25,600
O&ol=E AIEZ 20,0002~ 12 240
(OFSPIVN=d= 1,500,0002 122 18,000
OAIZ2&Hl |XId| 15,000
OdE || 40,000




2A:

ANEZelAFE A

Zu: HSAL2YBD)
Rl MSsAIE 2 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
ONMSFAIE 22|&Hl ==l 5,000
206 M=l 7,000 5,000 2,000
01 MZH| 7,000 5,000 2,000
OZSERI s 7 7,000
HOIEEY 2 6,120 6,120 0
201 fer=3| 6,120 6,120
01 At 22|l 500 500
ONHOIEEE 22IES 500
2 S5=24g4l 5,620 5,620 0
(OFSPIVNE=T= 300,000& * 122 3,600
Odot= AIEE 60,0002 * 12 720
OAIZZEHl | 1,300
H3E=ZE 2 17,672 16,896 776
101 ©1AH| 5,772 5,4% 276
04 JIZtN2Z2XNSE+ 5,772 5.4% 276
OdSdE=sa SZEH 22
76,9602 x5& 152 5,772
201 er23 | 10,400 10,400
01 At2teltl 1,000 1,000
OF4 & RUES 1,000
02 S3=gHl 9,400 9,400 0
O&IINEZ 200,000& * 128 2,400
og g 4l 1,000
OdE FAIH| 1,000
OAIZ&Hl sXbl 5,000
206 M=l 1,500 1,000 500
01 M=4l 1,500 1,000 500
Oz etB RIS 1,500
==& 2 27,000 26,000 1,000
201 fer=3| 27,000 26,000 1,000
01 AtR2tc|Hl 2,000 1,000 1,000
OF4 & RYES 2,000
2 35244l 25,000 25,000 0
o= 13,200
== 400,000 12& 4,800
o= 300,000 x 12 3,600
==& oA 400,000 123 4,800
OAIZZHl |XIH| 10,000
Odot=k AIEE 150,000& « 12 1,800
CrEEE 2 14,800 8,800 6,000
201 fer23| 14,800 8,800 6,000
01 AtR2t2lHI 3,000 0 3,000




2A:

ANEZelAFE A

Zu: HSAL2YBD)
Rl MSsAIE 2 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OF4 & RUES 3,000
2 s5=34l 11,800 8,800 3,000
o= 300,000 x 12 3,600
Oxkz 100,000 ~12& 1,200
OAIZZHl |XId| 7,000
YAMEH =SS 2 27,000 26,760 240
201 er23| 25,000 24,760 240
01 At2t2ltl 8,800 8,560 240
OF4 & RUES 3,000
OM=E3 1,000
O&JI&H| et 2t/ 200,000& * 128 2,400
ORCIZHIAIAE FXI2eld]
200,000 * 122 2,400
2 52434l 16,200 16,200 0
(OFSPIVN=4= 1,200,000& «12& 14,400
Od=AER 150,000& * 122 1,800
206 M=l 2,000 2,000
01 M=8l 2,000 2,000
OzSESAM & 2,000
H=3d 2¢al 29,298 24,680 4,618
101 @124H| 4,618 0 4,618
M ORIMZZ2NSE S 4,618 0 4,618
ORgZH =9 B4 o=
76,9603 x4 » 15 4,618
201 fer23| 9,680 9,680
02 S3=gHl 9,680 9,680
Ol MEsE 7,680
-&JI= 375,000& 128 4,500
k= 265,000& 122 3,180
OAIZ&Hl sXbl 1,000
Oz 84 1,000
401 Al HIZ S OHbI 15,000 15,000
01 AlZ2H| 15,000 15,000
O=2=U 2= 15,000
SSMFHE R MSAE X2 75,595 54,427 21,168
101 e124d| 70,291 49,123 21,168
M ORINZZ2NSE S 70,291 49,123 21,168
ONMSAIE A 76,9602 x3EH x2652 61,184
OMSsAE M= & &K
79,4003 x3& * 14 3,335
OSYAY B EHl 76,9603 x5 15 5,772
202 04| 5,304 5,304 0




2A:

ANEZelAFE A

Zu: HSAL2YBD)
Rl MSsAIE 2 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 2LHoIH 5,304 5,304 0
OMSAIE 22|PR =& 5,304
S SAATZZ 2| 22,400 18,900 3,500
201 er23y| 22,400 18,900 3,500
01 AtR2t2|HI 7,480 7,480 0
OFA & PYUES 3,000
OANd=as 200,000 %52 1,000
OReIFHIAIAE FXl2eld
200,000 122 2,400
Og=Jedg 45,0003 +2CH+ 123 1,080
02 S3=gHl 14,920 11,420 3,500
OXIINEZ 500,000 * 122 6,000
Odot=EAEE 100,000« 12& 1,200
OQIHY & LBtNs AIS=
60,0002~ 12 720
OAIE€&Hl sX8I 7,000
SSHEAE 2cl 654,688 654,688
101 21A4H| 23,088 23,088
04 JIZtN2 2N S 2+ 23,088 23,088
OJIZNZ22 X 2=
76,9602 *1H+3002 23,088
201 el 66,600 66,600
01 At2telt] 8,600 8,600
O&8=Jl AlBZ 50,000 * 122 600
OF4 & 2AES 5,000
OM=83 3,000
02 s3=gHl 58,000 0 58,000
OXIINEZ 2,000,000& 128 24,000
OAIZ&Hl sXIbl 30,000
Ozl &Hl |R=Hl 4,000
401 Al HIY S CHYI 540,000 540,000
01 AlZH| 540,000 540,000
OSSHEAIE RAES 540,000
“MAMSAIE K2+ 40,000
“UA HAAE SFRSA 500,000
405 AHatE = 25,000 25,000
01 ML ESF SHI 25,000 25,000
OSEHEAIE 223l 7 25,000
HEAE 22 2 2 9,048 8,864 184
SUIMSAE 2 9,048 8,864 184
101 212A4H| 3,848 3,664 184
04 JIZtN2Z2 XS+ 3,848 3,664 184




2A:

ANEZelAFE A

M HEAEsZ2e
SR MsAlE 22 & 2 (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OF22Y 76,9602 18 +502 3,848
201 er23| 4,000 4,000
02 S3=gl 4,000 4,000
OAIEZHl || 1,000,000 #4042 4,000
206 M=l 1,200 1,200
01 M=4l 1,200 1,200
o8 RII=KHH 1,200
Sst0iz=Alg2el 449,528 344,739 104,789
ZtAIE 2t 449,528 344,739 104,789
stz 2g2rk 145,794 99,652 46,142
101 @12A4H| 11,544 10,992 552
04 JIZtNZ22 NS+ 11,544 10,992 552
O=2st=alat Ha
76,9602 x1H*150 11,544
201 2= 105,250 82,060 23,190
01 At22t2lt] 29,550 15,160 14,390
I EE ES 6,600
O=2g8= +¢ 1,500
OANEE &5 300,000 62 1,800
O3 34 600,000 *23] 1,200
OAgHEH FXlI2el 400,000 123 4,800
O&JI&€H| etd el 250,000& * 12 3,000
OZelHIOIe etd2te| 200,000 * 122 2,400
OsdJl &I 8&E& 250
OFEHIAIAY =7X2t
300,000 * 122 3,600
OA=2c8d EY 4,400
2 s5=34l 75,700 66,900 8,800
(OFSPIVN=d= 250,000& 128 3,000
Odot= AEE 150,000& 122 1,800
OYst2e| Xt g2l 100
OA gt Salt| 100
o A= 2,000
O&JI£H] || 3,000
OAIZ&Hl || 10,000
O=2szti=sl2 CIXE 2& EX(2ME) 17,500
oggA3e 4x 18,200
Od= =Aldl 20,000
401 AIZHIX S0 29,000 6,600 22,400
01 AlZ2H| 29,000 6,600 22,400
O=2sil=al2t g=SAt 29,000
HEZoHHE 2E 2 20,000 2,000 18,000




2A:

ANEZelAFE A
-

g 2stolsAld2el
Chel: 2stAlg el EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
201 er23 | 2,000 2,000
2 52484l 2,000 2,000
OAEEHl & A= = 2,000
401 AlZHIZ S 0HbI 18,000 18,000
01 A28l 18,000 18,000
OdE st =S At 18,000
S2AH A28 A2 =S 2t 32,584 30,692 1,892
101 ©1AH| 11,544 10,992 552
M ORNZZ2NSE S 11,544 10,992 552
O&I2At A2 ™AIZ 22| & HA
76,9603 x1H 150! 11,544
201 er23| 20,540 19,200 1,340
01 At2teltl 6,400 6,500 A100
O=2g8s +d 1,000
OANEE &5 300,000 62 1,800
OFEHIAIAE =XH|
300,000 * 122 3,600
02 35244l 14,140 12,700 1,440
oNIIR3 650,000& 122 7,800
Ox==e=s 70,0002+ 128 840
OAlE &l & HER X 5,000
OAIZ8ZHl |5l 500
206 MH=H| 500 500
01 MHZHI 500 500
Oz&E RIS 2 500
st dgetsa 2el 182,320 141,000 41,320
307 elztol & 182,320 141,000 41,320
05 212t =S 182,320 141,000 41,320
OstHAIME g2 AEE238 182,320
SYSAAE2 2] 68,830 71,3% A2,565
101 21AH| 19,240 16,855 2,385
04 JIZtN2Z2 XS 2+ 19,240 16,855 2,385
OsgaAg=sa H4 & sZEH|
76,9602 x1H*2502 19,240
201 er23 | 45,590 51,540 25,950
01 At2teltl 24,520 36,770 A11,250
O=2g8= +¢ 1,500
OANEE &5 320,000 6 1,920
O] &el 5,000
OZeIHIOIH etd2tel 250,000 * 122 3,000
OsZIl FJldA= 300
OXgAIE etE2te] 400,000 12& 4,800




2A:

ANEZelAFE A
-

Zu: 2s0lsAa )
Chel: 2stAlg el EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
ORIFHIAIAE |X2el
500,000 * 122 6,000
OdS=0IMg=8 ¢ 2,000
02 S3=gHl 21,070 15,770 5,300
OAIZ&Hl =Xt 10,000
OdE7 bl 10,000
Osd)l HlddEsRs 70
OAlg2te| 3l *FbI 1,000
206 M=l 4,000 3,000 1,000
01 M=8l 4,000 3,000 1,000
OxEE RIISAM + 1,000
OseA Il RE7Y 3,000
S AL 2 466,802 256,749 210,053
SHZAEZ 2 466,802 296,749 210,053
F=2d2FX 7K - 22l 165,880 132,229 23,651
101 21A4H| 38,480 26,381 12,099
04 JIZtN2Z2 XS 2+ 38,480 26,381 12,099
O42X DX B4 U WEXL
76,9602 x2H 2502 38,480
201 el 111,400 102,848 8,552
01 At2teltl 17,800 14,148 3,652
OFAES & 2EE3 4,000
O==d 2ZA =B ===
50,0002 123 600
OL=Xcld 83N ===
850,000& * 122 10,200
ORIFHIAIAE |X2el
200,000 * 122 2,400
O3 g A=
50,0002 123 600
02 S3=gHl 93,600 88,700 4,900
O==4 2Z1 72,000
-HJI23 4,500,000 ~12& 54,000
-AlE2ie] ZHlE RS 3,000
-AEEH] || 15,000
OL2==HelFEAE |FX2el
1,800,000& «12& 21,600
206 M=Hl 6,000 3,000 3,000
01 MHZH| 6,000 3,000 3,000
OL=Held o4= 2,000
Ozlgd RIIs XM 4,000
s NI = 147,680 124,520 23,160
101 @1A4H| 38,480 18,320 20,160
04 JIZtNZ22 XS 2+ 38,480 18,320 20,160




2A:
X XH -
o e

=aak

ANEZelAFE A
A4 2t
AL =E 2l

SA - ZE . BR() - HRAR - BES of v G o HIDE2
Onzax 4, HNx & &X
76,9603 x2EH 2502 38,480
201 er2 3| 102,200 99,200 3,000
01 AtR2te|HI 24,700 21,700 3,000
OFx € PUES 1,000
Oo2gss 74 1,500
OAlEE &= 300,000& *62 1,800
O&D| &l et 2te] 1,000,000& «12& 12,000
OSZHIAIAE SX2el
700,000 %122 8,400
02 s3=gHl 77,500 77,500 0
OXIINEZ 4,500,000 ~12& 54,000
O - o= AIBZ 1,000,000& «12& 12,000
OdE & AIEEHl !X 10,000
OAlg2tel &l 7FbI 1,500
206 M=H| 7,000 7,000
01 M=8l 7,000 7,000
OzEERIISAMN 7,000
ANEE R - 22l 163,242 163,242
101 @124H| 36,942 36,942
M ORIMZZ2NSE S 36,942 36,942
OsigTmMHgYR 22 A8y
76,9603 x 12 #2402 18,471
OEdiZ=HAaMZ 2| IFY
76,9602 x1&H*2402 18,471
201 et 3| 57,700 57,700
01 At22t2l] 2,500 2,500
OSSN 2EES 1,000
Ozt Orgdd &I|4H| erd 2teld]
125,000& ~ 12 1,500
02 S3=gl 55,200 0 55,200
Otz Ol= & A2l 50,000
OZFAE=E &K= 350,000&* 122 4,200
OSSN SSAHY 2 = 1,000
202 04l 1,200 1,200
01 2LHoIH 1,200 1,200
OZZAEZS 2R = 1,200
206 M=l 1,000 1,000
01 M=4l 1,000 1,000
OZZAIHA AME22|ES 1Y 1,000
401 Al HIZ R 0HbI 65,000 65,000
01 AlZ8| 65,000 65,000
OLS0rEd =012 X 25,000
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